
Installationskabel halogenfri FQ H07Z1-R, a-collection

iBVD
Dokument Id
5560129206-00991
Version
1

Skapad
2025-09-24
Publicerad
Ej publicerad

Uppgiftslämnaren reserverar sig för eventuella fel i produktinformationen eller felaktigt registrerade uppgifter och förbehåller sig
rätten att korrigera och/eller komplettera produktinformation utan föregående avisering

 1 GRUNDDATA

Varubeskrivning
HFFR isolerad kopplingsledning med klass 2 ledare avsedd för fast installation i fast förlagda rör-
eller i kanalsystem och som kopplingsledning i skåp eller armaturer. Smidig och lättskalad kabel
med låg friktion vid dragning i kanalsystem och rör gör kabeln smidig och enkel att arbeta med i
båda nyinstallation och renoveringsjobb. Ledarisoleringen ska skyddas mot direkt UV-ljus.

Övriga upplysningar

Klassificeringar

ETIM  ›

BK04  › 18301 - Kabel-

BSAB  › SCF - SCF - TELE- OCH DATAKABLAR-

UNSPSC  ›

Leverantörsuppgifter

Företagsnamn
Ahlsell Sverige AB

Organisationsnummer
5560129206

Adress
Årstaängsvägen 11

Hemsida
www.ahlsell.se

Miljökontaktperson
Namn
Gunilla Sandström

Telefon
0858282680

E-post
gunilla.sandstrom@ahlsell.se

 2 HÅLLBARHETSARBETE

Sida 1



Företagets certifiering

ISO 9001■

ISO 14001■

Policys och riktlinjer

 3 INNEHÅLLSDEKLARATION

Kemisk produkt Nej

Innehåller produkten elektronik Nej

Omfattas varan av RoHs-direktivet Ja

Varans vikt 0,02 - 0,03 kg/m
 

Vara / Delkomponenter

Koncentrationen har beräknats på komponentnivå

Färg isolering - 0,14% av hela varan

Ingående material
/komponenter

Vikt-% i
komponent

CAS-nr (alt
legering)

EG-nr (alt
legering)

Vikt % i
produkt Kommentar

Färgämne Gult 0% - 0,07% 0 - 9,8E-05%

Färgämne grönt 0% - 0,07% 0 - 9,8E-05%

Färgämne orange 0% - 0,14% 0 - 0,000196%

Färgämne brunt 0% - 0,14% 0 - 0,000196%

Färgämne grått 0% - 0,14% 0 - 0,000196%

Färgämne vitt 0% - 0,14% 0 - 0,000196%

Färgämne blått 0% - 0,14% 0 - 0,000196%

Carbon Black, pigment 0% - 0,14% 1333-86-4 215-609-9 0 - 0,000196%

HFFR isolering - Revil GE 940 - 36,47% av hela varan

Ingående material
/komponenter

Vikt-% i
komponent

CAS-nr (alt
legering)

EG-nr (alt
legering)

Vikt % i
produkt Kommentar

(1,2-
dioxoethylene)bis(iminoeth
ylene) bis[3-(3,5-di-tert-
butyl-4-
hydroxyphenyl)propionate]

0,1% 70331-94-1 274-572-7 0,03647% Ingår i Revit GE
940

Benzenepropanoic acid,
3,5-bis(1,1-dimethylethyl)-
4-hydroxy-, 2,2-bis[[3-[3,5-
bis(1,1-dimethylethyl)-4-
hydroxyphenyl]-1-
oxopropoxy]methyl]-1,3-
propanediyl ester

0,2% 6683-19-8 229-722-6 0,07294% Ingår i Revit GE
940

UV-Stablilisator 0,3% Övrigt,
kemikalier 0,10941% Ingår i Revit GE

940

Sida 2



Mix vax 0,5% 0,18235% Ingår i Revit GE
940

Stearic acid, compound
with 2,2'-iminodiethanol
(3:1)

1% 38455-64-0 253-945-8 0,3647% Ingår i Revit GE
940

Additiv, ospecificerat 2,2% Övrigt,
kemikalier 0,80234% Ingår i Revit GE

940

Eten-vinylacetat kopolymer
synonym EVA 15,5% 24937-78-8 Saknas 5,65285% Ingår i Revit GE

940

1-Butene, polymer with
ethene 23% 25087-34-7 Saknas 8,3881%

Aluminiumhydroxid 57,2% 21645-51-2 244-492-7 20,86084% Ingår i Revit GE
940

Kopparledare - 63,5% av hela varan

Ingående material
/komponenter

Vikt-% i
komponent

CAS-nr (alt
legering)

EG-nr (alt
legering)

Vikt % i
produkt Kommentar

Koppar 100% 7440-50-8 231-159-6 63,5%

Del av materialinnehållet som är deklarerat 99,97%

Särskilt farliga ämnen

Varan innehåller INTE några ämnen med särskilt farliga egenskaper (Substances of very high
concern, SVHC-ämnen) som finns med på kandidatförteckningen i en koncentration som
överstiger 0,1 vikts-%

Utgåva av kandidatförteckningen som har använts
2025-06-25

Nanomaterial

Innehåller produkten tillsatt nanomaterial, som är medvetet tillsatta för att uppnå en viss
funktion?: Nej

Tillsatt högflourerade ämnen (PFAS)

Innehåller produkten tillsatt högflourerade ämnen (PFAS), som är aktivt tillsatta för att
uppnå en specifik funktion?: Nej

Begränsningslistan

Innehåller varan/produkten, eller någon av dess delkomponenter, ämnen som gör att
produkten inte uppfyller villkoren i Begränsningslistan (Reach Bilaga XVII)?: Nej

POPs-förordningen

Innehåller varan (eller någon av dess delkomponenter) ämnen som finns i POPs-
förordningen?: Nej

Övrigt

Ämnen är redovisade ned till 0,01% viktprocent enligt iBVDs redovisningskrav. Eventuell
avvikelse från redovisningskraven redovisas nedan

Sida 3



 4 RÅVAROR

Återvunnet material

Innehåller varan återvunnet material: Vet ej

Träråvara

Träråvara ingår i varan: Nej

 5 MILJÖPÅVERKAN

Finns en miljövarudeklaration framtagen enligt EN15804 eller ISO14025 för varan

Ja

Finns annan miljövarudeklaration

Nej

 6 DISTRIBUTION

Beskrivning av emballagehantering för distribution av varan
Levereras i rulle

 7 BYGGSKEDET

Ställer varan särskilda krav vid lagring? Nej

Ställer varan särskilda krav på omgivande byggvaror? Nej

 8 BRUKSSKEDET

Finns skötselanvisningar/skötselråd? Nej

Finns en energimärkning enligt energimärkningsdirektivet (2017/1369/EU)
för varan? Ej relevant

 9 RIVNING

Kräver varan särskilda åtgärder för skydd av hälsa och miljö vid
rivning/demontering? Nej

 

Sida 4



10 AVFALLSHANTERING

Omfattas den levererade varan av förordningen (2014:1075) om
producentansvar för elektriska och elektroniska produkter när den blir
avfall?

Nej

Är återanvändning möjlig för hela eller delar av varan? Nej

Är materialåtervinning möjlig för hela eller delar av varan? Ja

Kan förbrännas för materialåtervinning (Koppar)

Är energiåtervinning möjlig för hela eller delar av varan? Nej

Har leverantören restriktioner och rekommendationer för återanvändning,
material- eller energiåtervinning eller deponering?

Nej

När den levererade varan blir avfall, klassas den då som farligt avfall? Nej

Avfallskod (EWC) för den levererade varan 170401

 

Sida 5



 

11 ARTIKELIDENTITETER

RSK-nummer Eget Artikel-nr GTIN
0439442

0439443

0439472

0439473

0439482

0439483

0439492

0439493

0439502

0439503

0439512

0439513

0439622

0439623

0439522

0439523

0439542

0439543

0439572

0439573

0439582

0439583

0439592

0439593

0439602

0439603

0439612

0439613

Sida 6



 

12 Bilagor

Produktdatablad

Prestandadeklaration

Säkerhetsblad

RoHs-intyg DoC - FQ a-collection sep2025.pdf

Miljövarudeklaration EPD FQ (H07Z1 R) 2,5 - HUB-0342.pdf

Skötselanvisning

 
Övriga bifogade dokument

Sida 7



   

 

ENVIRONMENTAL PRODUCT DECLARATION 
IN ACCORDANCE WITH EN 15804+A2 & ISO 14025 / ISO 21930 
 
FQ (H07Z1-R) 2,5 
Amo Installationskabel AB 

 
 
  

EPD HUB, HUB-0342 
Publishing date 09 March 2023, last updated date 09 March 2023, valid until 09 March 2028 

 

Created with One Click LCA 



              VP-005   

2 
FQ (H07Z1-R) 2,5 

Created with One Click LCA 

GENERAL INFORMATION 

MANUFACTURER  

Manufacturer VP-001 Amo Installationskabel AB 

Address VP-002 Kabelvägen 5, Alstermo, Sweden 

Contact details VP-003 richard.andersen@amokabel.com 

Website https://amokabel.com/ 

EPD STANDARDS, SCOPE AND VERIFICATION 

Program operator EPD Hub, hub@epdhub.com 

Reference standard EN 15804+A2:2019 and ISO 14025 

PCR EPD Hub Core PCR version 1.0, 1 Feb 2022                        

Sector Electrical product 

Category of EPD Sister EPD, Verified by third party (Parent EPD: 
HUB-0343) 

Scope of the EPD Cradle to gate with options A4 modules C1-C4, D 

EPD author VP-004 Richard Andersen 

EPD verification Independent verification of this EPD and data, 
according to ISO 14025: 

 Internal certification  External verification 

EPD verifier VP-055 H.N, as an authorized verifier acting for EPD Hub 
Limited 

 

The manufacturer has the sole ownership, liability, and responsibility for 
the EPD. EPDs within the same product category but from different 
programs may not be comparable. EPDs of construction products may not 
be comparable if they do not comply with EN 15804 and if they are not 
compared in a building context. 
 
 

 
 
PRODUCT  

Product name VP-007 FQ (H07Z1-R) 2,5 

Product reference 02032 

Place of production VP-008 Alstermo, Sweden 

Period for data VP-013 2021-2022 

Averaging in EPD VP-024-C No averaging 

Variation in GWP-fossil for A1-A3 
VP-025-C 

Not relevant  

ENVIRONMENTAL DATA SUMMARY 

Declared unit 1 Km 

Declared unit mass 31.04 kg 

GWP-fossil, A1-A3 (kgCO2e) 7,32E1 

GWP-total, A1-A3 (kgCO2e) 7,3E1 

Secondary material, inputs (%) 4.88 

Secondary material, outputs (%) 105.0 

Total energy use, A1-A3 (kWh) 325.0 

Total water use, A1-A3 (m3e) 1.27 

  



              VP-005   

3 
FQ (H07Z1-R) 2,5 

Created with One Click LCA 

PRODUCT AND MANUFACTURER 

ABOUT THE MANUFACTURER 
Amo Installationskabel AB is part of Amokabel, a Scandinavian cable group 
with four companies that manufacture a wide spectrum of wires, cables, 
and consumer-packaged products. Amokabel manufactures cables for the 
sectors Subsea; Industry; Power networks; Installation. We are the  
industry leader when it comes to innovation, customer service and short 
lead times. With focus on high quality and innovative design of new 
products with minimal environmental impact.  
Our division within Amokabel is specialized in building- and installations-
cables varying from singlecore wires to larger industrial installations-cables 
that are rated up to 1kV.  
We offer customer-based packaging-solutions and pride ourselves on our 
speed and flexibility both when it comes to customer service and 
production-processes. Our customers are mainly based in Sweden, 
Norway, Finland and Denmark. 

PRODUCT DESCRIPTION VP-009 
H07Z1-R is a 70°C HFFR PE insulated stranded copper conductor. Suitable 
for fixed installation. To be installed in conduit or duct systems, or as 
connection wire to be used in switch cabinets and similar applications.  
 
Further information can be found at https://amokabel.com/. 

 

 

 

 

PRODUCT RAW MATERIAL MAIN COMPOSITION VP-010 

Raw material category Amount, mass- % Material origin 

Metals 21kg, 65,54% Helsingborg, SWE 

Fossil materials 11,04kg, 34,46% Europe 

BIOGENIC CARBON CONTENT VP-028-C 
Product’s biogenic carbon content at the factory gate  

Biogenic carbon content in product, kg C 0 

Biogenic carbon content in packaging, kg C 0.3129 

FUNCTIONAL UNIT AND SERVICE LIFE 

Declared unit VP-011 1 Km 

Mass per declared unit VP-012 31.04 kg 

Functional unit - 

Reference service life - 

SUBSTANCES, REACH - VERY HIGH CONCERN VP-027-C 
The product does not contain any REACH SVHC substances in amounts 
greater than 0,1 % (1000 ppm). 
  



              VP-005   

4 
FQ (H07Z1-R) 2,5 

Created with One Click LCA 

PRODUCT LIFE-CYCLE 

SYSTEM BOUNDARY 
This EPD covers the life-cycle modules listed in the following table. 

Product stage Assembly 
stage 

Use stage End of life stage Beyond the 
system 

boundaries 

A1 A2 A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1 C2 C3 C4 D 

x x x x MND MND MND MND MND MND MND MND x x x x x 

R
aw

 m
ate

rials 

Tran
sp

o
rt 

M
an

u
factu

rin
g 

Tran
sp

o
rt 

A
sse

m
b

ly 

U
se

 

M
ain

te
n

an
ce

 

R
e

p
air 

R
e

p
lace

m
e

n
t 

R
e

fu
rb

ish
m

e
n

t 

O
p

e
ratio

n
al e

n
e

rgy u
se

 

O
p

e
ratio

n
al w

ate
r u

se
 

D
e

co
n

str./d
e

m
o

l. 

Tran
sp

o
rt 

W
aste

 p
ro

ce
ssin

g 

D
isp

o
sa

l 

R
e

u
se

 

R
e

co
ve

ry 

R
e

cyclin
g 

Modules not declared = MND. Modules not relevant = MNR. 

 

 

 

 

 

 

 

 

                        MANUFACTURING PROCESS FLOWCHART 

 

 

 

 

 



              VP-005   

5 
FQ (H07Z1-R) 2,5 

Created with One Click LCA 

MANUFACTURING AND PACKAGING (A1-A3) VP-018 
The environmental impacts considered for the product stage cover the 

manufacturing of raw materials used in the production as well as packaging 

materials and other ancillary materials. Also, fuels used by machines, and 

handling of waste formed in the production processes at the 

manufacturing facilities are included in this stage. The study also considers 

the material losses occurring during the manufacturing processes as well 

as losses during electricity transmission. 

 

The cable is made of metals and plastic materials. The materials are 

transported to Amokabel, where in a sister-company the copper wires are 

drawn to the required dimension and the cores are stranded. Then in Amo 

Installationskabels production facility insulation material (PE) is extruded. 

The manufacturing processes require electricity and fuels for the different 

equipment as well as heating. The study considers the losses of main raw 

materials occurring during the manufacturing process.  

The finished product is packaged before being sent to the wholeseller on 

a wooden pallet. 

TRANSPORT AND INSTALLATION (A4-A5) 

Transportation impacts occurred from final products delivery to 

construction site (A4) cover fuel direct exhaust emissions, environmental 

impacts of fuel production, as well as related infrastructure emissions. 

 

Transportation distance is defined according to the PCR. Average distance 

of transportation from production plant to wholeseller sites are calculated 

as a weighted average and the transportation method is assumed to be 

lorry. Vehicle capacity utilization volume factor is assumed to be 100 % 

which means full load. In reality, it may vary but as role of transportation 

emissions in total results is small, the variety in load is assumed to be 

negligible. Empty returns are not taken into account as it is assumed that 

return trip is used by the transportation company to serve the needs of 

other clients. Transportation does not cause losses as product are 

packaged properly. Also, volume capacity utilisation factor is assumed to 

be 100 % for the nested packaged products. Transportation impacts that 

occur from delivery of the product cover direct exhaust emissions of fuel, 

environmental impacts of fuel production, as well as related infrastructure 

emissions.   

  

Module A5 is out of scope of this EPD, only packaging waste are considered 

to leave the system. 

Environmental impacts from installation in the construction site include 

waste packaging materials (A5) and release of biogenic carbon dioxide 

from waste processing of cardboard and wood pallets. Electricity 

consumption for installation of cable is considered to be negligible. 

Installation-loss has not been included in this study. 

 

 

 

 

 

 

 

 

 



              VP-005   

6 
FQ (H07Z1-R) 2,5 

Created with One Click LCA 

 

PRODUCT USE AND MAINTENANCE (B1-B7) VP-043-C 
 

This EPD does not cover the use phase. 

Air, soil, and water impacts during the use phase have not been studied. 

PRODUCT END OF LIFE (C1-C4, D) VP-049-C 
Energy consumption is assumed to be negligible for the process of cable 

de-construction. It is assumed that the waste is collected separately and 

transported to the waste treatment center. Transportation distance to 

treatment is assumed as 100 km and the transportation method is 

assumed to be lorry (C2). As per common practice, the power cable is 

shredded and the metals and plastics from the product is sorted. Module 

C3 accounts for energy and resource inputs for sorting and treating these 

waste streams - 95% of metals (Copper) are assumed to be recycled while 

90% of plastics (PE) are incinerated for energy recovery. Due to the 

material and energy recovery potential of the materials, a part of the end-

of-life product is converted into recycled raw materials while electric and 

heat energy are generated from incineration.   

  

The remaining materials from the product - 5% of metals and 10% of 

plastics - are assumed to be sent to sanitary landfill to account for a 

conservative scenario.   

The wood pallet and polyethylene film are incinerated and recycled 

respectively, where the energy recovered from incineration displaces 

electricity and heat production. The benefits and loads of incineration and 

recycling are included in Module D for packaging materials as well.  

  



              VP-005   

7 
FQ (H07Z1-R) 2,5 

Created with One Click LCA 

LIFE-CYCLE ASSESSMENT 

CUT-OFF CRITERIA VP-020 
The study does not exclude any modules or processes which are stated 
mandatory in the reference standard and the applied PCR. The study does 
not exclude any hazardous materials or substances. The study includes all 
major raw material and energy consumption. All inputs and outputs of the 
unit processes, for which data is available for, are included in the 
calculation. There is no neglected unit process more than 1% of total mass 
or energy flows. The module specific total neglected input and output 
flows also do not exceed 5% of energy usage or mass. 
 

ALLOCATION, ESTIMATES AND ASSUMPTIONS VP-050-C 
Allocation is required if some material, energy, and waste data cannot be 
measured separately for the product under investigation. All allocations 
are done as per the reference standards and the applied PCR. In this study, 
allocation has been done in the following ways: 
 
 

Data type Allocation 

Raw materials No allocation 

Packaging materials No allocation 

Ancillary materials Not applicable 

Manufacturing energy and 
waste 

Allocated by mass or volume 

 

 

AVERAGES AND VARIABILITY VP-026-C 

Type of average No Averaging 

Averaging method Not applicable 

Variation in GWP-fossil for A1-A3 Not Relevant 

 
There is no average result considered in this study since this EPD refers to 
one specific product produced in one production plant.  
 

LCA SOFTWARE AND BIBLIOGRAPHY 
This EPD has been created using One Click LCA EPD Generator. The LCA and 
EPD have been prepared according to the reference standards and ISO 
14040/14044. Ecoinvent and One Click LCA databases were used as 
sources of environmental data. 
 
 
 
 
 
 
 
 
 
 
 



                 

8 
FQ (H07Z1-R) 2,5 Created with One Click LCA 

ENVIRONMENTAL IMPACT DATA 

CORE ENVIRONMENTAL IMPACT INDICATORS – EN 15804+A2, PEF VP-029-C 

Impact category Unit A1 A2 A3 A1-A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1 C2 C3 C4 D 

GWP – total1) kg CO2e 7,13E1 1,49E0 2,33E‐1 7,3E1 1,15E0 4,19E‐1 MND MND MND MND MND MND MND 0E0 2,91E‐1 6,24E0 1,34E‐1 0E0 

GWP – fossil kg CO2e 7,11E1 1,49E0 6,25E‐1 7,32E1 1,16E0 4,04E‐2 MND MND MND MND MND MND MND 0E0 2,91E‐1 6,28E0 1,34E‐1 ‐3,92E1 

GWP – biogenic kg CO2e 1,44E‐1 8,56E‐4 ‐3,97E‐1 ‐2,52E‐1 8,42E‐4 3,79E‐1 MND MND MND MND MND MND MND 0E0 2,11E‐4 ‐4,16E‐2 9,59E‐5 8,39E‐1 

GWP – LULUC kg CO2e 6,28E‐2 5,41E‐4 4,66E‐3 6,8E‐2 3,49E‐4 1,52E‐5 MND MND MND MND MND MND MND 0E0 8,76E‐5 6,17E‐3 8,89E‐6 ‐2,13E‐2 

Ozone depletion pot. kg CFC-11e 4,47E‐6 3,42E‐7 8,42E‐8 4,9E‐6 2,73E‐7 5,52E‐9 MND MND MND MND MND MND MND 0E0 6,85E‐8 4,48E‐7 5,9E‐9 ‐1,73E‐6 

Acidification potential mol H+e 2,13E0 1,08E‐2 3,24E‐3 2,15E0 4,87E‐3 2,08E‐4 MND MND MND MND MND MND MND 0E0 1,22E‐3 2,74E‐2 1,59E‐4 ‐1,47E0 

EP-freshwater2) kg Pe 1,72E‐2 1,21E‐5 4,55E‐5 1,73E‐2 9,44E‐6 7,74E‐7 MND MND MND MND MND MND MND 0E0 2,37E‐6 2E‐4 3,09E‐7 ‐1,13E‐2 

EP-marine kg Ne 1,85E‐1 3,2E‐3 1,19E‐3 1,9E‐1 1,47E‐3 7,27E‐5 MND MND MND MND MND MND MND 0E0 3,69E‐4 6,16E‐3 1,86E‐4 ‐1,34E‐1 

EP-terrestrial mol Ne 2,77E0 3,54E‐2 1,07E‐2 2,82E0 1,62E‐2 7,67E‐4 MND MND MND MND MND MND MND 0E0 4,07E‐3 6,98E‐2 5,84E‐4 ‐2,08E0 

POCP (“smog”)3) kg NMVOCe 6,88E‐1 1,01E‐2 2,45E‐3 7E‐1 5,21E‐3 2,61E‐4 MND MND MND MND MND MND MND 0E0 1,31E‐3 2,06E‐2 1,95E‐4 ‐4,82E‐1 

ADP-minerals & metals4) kg Sbe 2,85E‐2 3,15E‐5 9,09E‐6 2,85E‐2 1,98E‐5 1,21E‐6 MND MND MND MND MND MND MND 0E0 4,97E‐6 1,3E‐4 1,78E‐7 ‐2,43E‐2 

ADP-fossil resources MJ 1,45E3 2,27E1 1,05E1 1,48E3 1,8E1 4,43E‐1 MND MND MND MND MND MND MND 0E0 4,53E0 6,86E1 4,36E‐1 ‐9,01E2 

Water use5) m3e depr. 9,71E1 7,89E‐2 2,48E‐1 9,74E1 6,71E‐2 3,59E‐3 MND MND MND MND MND MND MND 0E0 1,68E‐2 1,32E0 1,95E‐2 ‐7,12E1 

USE OF NATURAL RESOURCES 

Impact category Unit A1 A2 A3 A1-A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1 C2 C3 C4 D 

Renew. PER as energy8) MJ 2,08E2 2,98E‐1 7,22E0 2,16E2 2,27E‐1 2,07E‐2 MND MND MND MND MND MND MND 0E0 5,7E‐2 5,72E0 6,83E‐3 ‐1,25E2 

Renew. PER as material MJ 0E0 0E0 3,92E0 3,92E0 0E0 ‐3,48E0 MND MND MND MND MND MND MND 0E0 0E0 0E0 0E0 0E0 

Total use of renew. PER MJ 2,08E2 2,98E‐1 1,11E1 2,2E2 2,27E‐1 ‐3,46E0 MND MND MND MND MND MND MND 0E0 5,7E‐2 5,72E0 6,83E‐3 ‐1,25E2 

Non-re. PER as energy MJ 9,23E2 2,27E1 1,05E1 9,56E2 1,8E1 4,43E‐1 MND MND MND MND MND MND MND 0E0 4,53E0 6,86E1 4,36E‐1 ‐4,28E2 

Non-re. PER as material MJ 5,28E2 0E0 0E0 5,28E2 0E0 0E0 MND MND MND MND MND MND MND 0E0 0E0 ‐3,72E2 0E0 ‐4,73E2 

Total use of non-re. PER MJ 1,45E3 2,27E1 1,05E1 1,48E3 1,8E1 4,43E‐1 MND MND MND MND MND MND MND 0E0 4,53E0 ‐3,03E2 4,36E‐1 ‐9,01E2 

Secondary materials kg 1,51E0 0E0 0E0 1,51E0 0E0 0E0 MND MND MND MND MND MND MND 0E0 0E0 0E0 0E0 2,67E1 

Renew. secondary fuels MJ 0E0 0E0 0E0 0E0 0E0 0E0 MND MND MND MND MND MND MND 0E0 0E0 0E0 0E0 0E0 

Non-ren. secondary fuels MJ 0E0 0E0 0E0 0E0 0E0 0E0 MND MND MND MND MND MND MND 0E0 0E0 0E0 0E0 0E0 

Use of net fresh water m3 1,25E0 4,26E‐3 1,91E‐2 1.27 3,76E‐3 1,07E‐4 MND MND MND MND MND MND MND 0E0 9,43E‐4 2,28E‐2 4,8E‐4 ‐9,26E‐1 



                 

9 
FQ (H07Z1-R) 2,5 Created with One Click LCA 

8) PER = Primary energy resources. 

END OF LIFE – WASTE 

Impact category Unit A1 A2 A3 A1-A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1 C2 C3 C4 D 

Hazardous waste kg 2,76E1 2,32E‐2 2,88E‐2 2,77E1 1,75E‐2 1,73E‐3 MND MND MND MND MND MND MND 0E0 4,4E‐3 0E0 6,85E‐4 ‐2,12E1 

Non-hazardous waste kg 1,32E3 1,98E0 1,13E0 1,32E3 1,94E0 5,39E‐2 MND MND MND MND MND MND MND 0E0 4,87E‐1 0E0 2,15E0 ‐9,38E2 

Radioactive waste kg 3,37E‐3 1,55E‐4 4,84E‐5 3,58E‐3 1,24E‐4 2,84E‐6 MND MND MND MND MND MND MND 0E0 3,11E‐5 0E0 2,68E‐6 ‐9,95E‐4 

 

END OF LIFE – OUTPUT FLOWS 

Impact category Unit A1 A2 A3 A1-A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1 C2 C3 C4 D 

Components for re-use kg 0E0 0E0 0E0 0E0 0E0 0E0 MND MND MND MND MND MND MND 0E0 0E0 0E0 0E0 0E0 

Materials for recycling kg 0E0 0E0 0E0 0E0 0E0 0E0 MND MND MND MND MND MND MND 0E0 0E0 3,27E1 0E0 0E0 

Materials for energy rec kg 0E0 0E0 0E0 0E0 0E0 1,35E‐1 MND MND MND MND MND MND MND 0E0 0E0 0E0 0E0 0E0 

Exported energy MJ 0E0 0E0 0E0 0E0 0E0 0E0 MND MND MND MND MND MND MND 0E0 0E0 0E0 0E0 0E0 

 

 

ENVIRONMENTAL IMPACTS – EN 15804+A1, CML / ISO 21930 

Impact category Unit A1 A2 A3 A1-A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1 C2 C3 C4 D 

Global Warming Pot. kg CO2e 6,85E1 1,48E0 6,22E‐1 7,06E1 1,15E0 4,4E‐2 MND MND MND MND MND MND MND 0E0 2,89E‐1 6,13E0 9,73E‐2 ‐3,71E1 
Ozone depletion Pot. kg CFC-11e 4,3E‐6 2,72E‐7 7,64E‐8 4,65E‐6 2,17E‐7 4,54E‐9 MND MND MND MND MND MND MND 0E0 5,44E‐8 3,84E‐7 4,7E‐9 ‐1,65E‐6 
Acidification kg SO2e 1,73E0 6,27E‐3 2,07E‐3 1,74E0 2,36E‐3 1,57E‐4 MND MND MND MND MND MND MND 0E0 5,92E‐4 1,92E‐2 2,89E‐4 ‐1,15E0 
Eutrophication kg PO4

3e 8,88E‐1 9,66E‐4 1,47E‐3 8,9E‐1 4,77E‐4 9E‐5 MND MND MND MND MND MND MND 0E0 1,2E‐4 1,35E‐2 5,26E‐3 ‐6,18E‐1 
POCP (“smog”) kg C2H4e 6,95E‐2 2,68E‐4 1,35E‐4 6,99E‐2 1,5E‐4 9,99E‐6 MND MND MND MND MND MND MND 0E0 3,75E‐5 1,2E‐3 2,09E‐5 ‐4,54E‐2 
ADP-elements kg Sbe 2,85E‐2 3,15E‐5 9,09E‐6 2,85E‐2 1,98E‐5 1,21E‐6 MND MND MND MND MND MND MND 0E0 4,97E‐6 1,3E‐4 1,78E‐7 ‐2,43E‐2 
ADP-fossil MJ 1,45E3 2,27E1 1,05E1 1,48E3 1,8E1 4,43E‐1 MND MND MND MND MND MND MND 0E0 4,53E0 6,86E1 4,36E‐1 ‐9,01E2 
  



                 

10 
FQ (H07Z1-R) 2,5 

Created with One Click LCA 

VERIFICATION STATEMENT 

VERIFICATION PROCESS FOR THIS EPD 
This EPD has been verified in accordance with ISO 14025 by an 
independent, third-party verifier by reviewing results, documents and 
compliancy with reference standard, ISO 14025 and ISO 14040/14044, 
following the process and checklists of the program operator for: 
 

• This Environmental Product Declaration 

• The Life-Cycle Assessment used in this EPD  

• The digital background data for this EPD 
 
Why does verification transparency matter? Read more online 
This EPD has been generated by One Click LCA EPD generator, which has 
been verified and approved by the EPD Hub. 

THIRD-PARTY VERIFICATION STATEMENT 
I hereby confirm that, following detailed examination, I have not 
established any relevant deviations by the studied Environmental Product 
Declaration (EPD), its LCA and project report, in terms of the data 
collected and used in the LCA calculations, the way the LCA-based 
calculations have been carried out, the presentation of environmental data 
in the EPD, and other additional environmental information, as present 
with respect to the procedural and methodological requirements in ISO 
14025:2010 and reference standard. 
 
 
 
 
 

I confirm that the company-specific data has been examined as regards 
plausibility and consistency; the declaration owner is responsible for its 
factual integrity and legal compliance. 
 
I confirm that I have sufficient knowledge and experience of construction 
products, this specific product category, the construction industry, relevant 
standards, and the geographical area of the EPD to carry out this 
verification. 
 
I confirm my independence in my role as verifier; I have not been involved 
in the execution of the LCA or in the development of the declaration and 
have no conflicts of interest regarding this verification. 
 
HaiHa Nguyen, as an authorized verifier acting for EPD Hub Limited  
09.03.2023 

 
 

http://www.oneclicklca.com/why-epd-verification-transparency-matters


 

 
Ahlsell AB  

Årstaängsvägen 11, 117 43 Stockholm 
Phone: 08-685 70 00  Fax: 08-685 70 96   

E-mail: info@ahlsell.se  Webb: www.ahlsell.se 
Registered office of the board: Stockholm   Org.nr: 556012-9206 

    

Declaration of Conformity 
 
Responsible for placing on the market: Ahlsell AB 
This declaration of conformity is issued under the sole responsibility of Ahlsell. 
 
Reference of the item: a-collection FQ Installation Cable 1,5mm² + 2,5mm², 20 and 100m. 
 
Article no: 0439472, 0439473, 0439482, 0439483, 0439442, 0439443, 0439492, 0439493, 0439502, 0439503, 0439622, 
0439623, 0439512, 0439513, 0439572, 0439573, 0439582, 0439583, 0439542, 0439543, 0439592, 0439593, 0439602, 
0439603, 0439522, 0439523, 0439612 and 0439613. 
 
Is in conformity with the provisions of the following Council Directives:  
 
LVD Directive 2014/35/EU according to European harmonized standards: 
EN 50525-3-31 Electric cables - Low voltage energy cables of rated voltages up to and including 450/750 V - 

Part 3-31: Cables with special fire performance - Single core non-sheathed cables with halogen-
free thermoplastic insulation, and low emission of smoke 

IEC 60228,5 Conductors of insulated cables 
 
 
In accordance with Regulation (UE) N.305/2011 
EN 13501-6  Fire classification of construction products and building elements –  

Part 6: Classification using data from reaction to fire tests on power,  
control and communication cables 

EN 60332-1-2  Tests on electric and optical fibre cables under fire conditions –  
Part 1-2: Test for vertical flame propagation for a single insulated wire or cable –  
Procedure for 1 kW pre-mixed flame 

EN 50399 Common test methods for cables under fire conditions - Heat release and smoke production 
measurement on cables during flame spread test - Test apparatus, procedures, results 

EN 60332-3-24  Tests on electric cables under fire conditions –  
Part 3-24: Test for vertical flame spread of vertically-mounted bunched wires  
or cables - Category C 

EN 60754-2  Test on gases evolved during combustion of materials from cables –  
Part 2: Determination of acidity (by pH measurement) and conductivity 
 

Restriction of Hazardous Substances: 
RoHS Directive 2011/65/EU and (EU) 2015/863 
REACH Regulation (EU) No 1907/2006 
POPs Regulation (EU) No 2019/1021 
 
 
 

 
 
 
 
 
 

mailto:info@ahlsell.se


 

  

2 

Stockholm 2025-09-23 

  
…………………………. 
Peter J Holm 
Private Label Support 
Ahlsell Sverige AB 
S-117 43 STOCKHOLM 


